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Test Review Rate of Change, Constant, Slope
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For questions #1-6, refer to the information in the chart below.

1. Abby, Jamie, and Sam are friends and they all got summer jobs as babysiTTerS.
Below is information about the pay each of them earned for the hours they

were babysitting.
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- Jamie earned $63

~ babysitting for 9
- hours straight.
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After 4 hours, Sam
had earned $28 and
after 8 hours had
earned $56.
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X= 3k of howr!/

d = Aota | B earred

Define Variables:
X =% 0f lhowrt
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-2.” What information.about Abby, Jamie, and Sams babysitting jobs can you obtain

from the rate of change?
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3. What would be the total money earned for Abby, Jamie, and Sam at a time of
0? Why does this make sense?
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4. What does your answer to question number 3 tell you about the constant in each
of the equations?
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5. Graph Abby, Jamie, and Sam's babysitting earnings on the Coordinate Plane
below. Be sure to label each axis and make sure to label each line with the student

hame it corresponds with.
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“ 6. If all three friends were saving up for the same pair of jeans to purchase, who
) would reach the goal last and why?
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For #'s 7 and 8, find the slope of the line thr'pugh each pair of points.
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.8. (4, -é) (7, -3) | ' 8.

© 9. Use the graph provided to answer the following questions. The capitol letters

.- @Q,R,5,and P represent the lines and should be used as the answers for each
blank. '

'-::':Q'::::.'IJE) 3 R a. Which line has a positive slope?  a. L
S :;::;:::.' _R b. Which line hasanegcrrives,lope.? b, _S_
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TN ¢. Which line has a slope of zero?  c¢. P_
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T e N d. Which line has an undefined slope? d. )
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10. For the given points below, graph the points and draw the one straight line
through both points. After the line is drawn, find the slope and place your answer
of the line. | |

10a. Graph R (-3, 2) and 5(2, 8) 10b. 6raph V(-6, 2) and W(0, 4)
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11, Using the tables below, find the slope AND find the constant.
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11a. Slope:

11b. Slope:

Constant : ""5 Constant : -\
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12, Find the slope of line from the graph below using points A andX. Then find

and_.D

the slope of the line using oinTsPH
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13. Use the properties of similar triangles to explain why any two points on a line

can be used to calculate slope.
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14. Explain how slope and rate of change are related. Use mathematical

reasoning to justify your response.
Slopet and

( yate of ¢ ~tAe Sean
e, The o bm_mﬂiw&m_gs_
\ : ‘ ;

[, 8

e 4Y/ox and

Y “‘;/M




